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Group—-A

a) Discuss the historical context of Lewis model. [3]
b) What is dualism? [3]
c) Explain the assumptions of the Lewis model. [4]
Write a short note : “The role of institutions in economic development” [5]

A farming family owns some land. Two people are needed to farm each acre of land that they own.
There are six people in the family. The going wage in the market is Rs. 1000.Each acre of land can
produce Rs. 3000 worth output. The family is always free to lease out land but the labour required to
farm it must be compensated at Rs. 1000 per person. Another problem is the family can hire labour
but that involves supervision cost Rs. 2000 to monitor them.

a) Calculate the rent per acre the family hope to obtain by leasing out land. [1]
b) For a six person family, what is the minimum acreage necessary for it to be optimal to lease out
land? Explain your answer. [2]
c) Is there a threshold acreage after which the family will no longer lease out land, but hire a
supervisor and employ wage labour? [2]
OR

What do you mean by screening in the context of land rent tenancy contract? How this justifies the
preponderance of the practice of sharecropping tenancy contract even though it is inefficient in
Marshallian sense? What are the facts that make screening argument to justify sharecropping tenancy
contract invalid? [1+2+2]

What do you mean by Marshallian efficiency principle in land rent tenancy contract? Why the
incidence of retaining more than 100% of an extra output in fixed rent tenancy contract is inefficient

even though the tenant might put in extra effort? Show graphically. [2-5+2:5]
OR
a) Show that in a world of uncertainty a poor risk averse tenant will always prefer a sharecropping
tenancy contract over fixed rent contract. Assume that the land owner is risk neutral. [2-5]
b) What is the land owner himself is risk averse? How do you think the market for contract will
emerge? Explain. [2-5]
Group-B

A random sample of 12 observations is used to estimate a simple linear regression relationship
between two variables. Here is a partial ANOVA table :

Source of Variation df SS MS
Regression

Error 10
Total 350

What percentage of the variation in the dependent variable is explained by the variation in the
independent variable (to the nearest integer)? [5]

(1)



Answer any two questions from the Question Nos. 7t0 9 : [2x10]

7. You are given the following information regarding the joint distribution of X (the age of a person)
and Y (the number of days they choose to spend at a meditation camp) :

Values of Y
0 1 2 3
20 | 0.25 0.02 0 0

40 0.25 0.06 0.02 0
Values of X

60 0.15 0.12 0.08 0.05

Considering X as independent variable and Y as the dependent variable, find the PRF ( Population
Regression Function) values as X =20, 40 and 60. Looking at the calculated PRF values, do you find
any trend ? [10]

8. Sir Francis Galton, a cousin of James Darwin, examined the relationship between the height of
children and their parents towards the end of the 19th century. It is from this study that the name
“regression” originated. You decide to update his findings by collecting data from 122 college
students, and estimate the following relationship:

Studenth = 19.6 + 0.73xMidparh, R® = 0.45

(7.2) (0.10)
where Studenth is the height of students in inches, and Midparh is the average of the parental heights.
( Values in parentheses are estimated standard errors for the estimated intercept and slope
coefficients.)
If children, on average, were expected to be of the same height as their parents, then this would imply
two hypotheses, one for the slope and one for the intercept. (i) What should the null hypothesis be for
the intercept? Calculate the relevant statistic and carry out the hypothesis test at the 1% level. (ii)
What should the null hypothesis be for the slope? Calculate the relevant statistic and carry out the
hypothesis test at the 5% level. [5+5]

9. In the context of the simple linear regression with intercept (between y & X, where y : dependent & X :
independent), show that the coefficient of determination coincides with the squared coefficient of
correlation between y and x. [10]
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